Tl 6 FEAZREIKR

= om 2024.5.1 (A
2 X7 Axxa AFHEE N
% X b = = = 100 199 %4 101 %2
N = ] = 180 380 5% 1 180
© H & = 295 761 11 300 %7
& £ = 23] 1.0%9 23]
& & = 50 D24 49
= ES = 80 634 %1 %
B W T — & 7 % ;% 110 %10 358 52D 115 %7
T = = 330 938 3% B 329 %3
E B B = = 122 %8 378 %17 131 %7
X 25 = = 120 370 %3 127 %1
: 1.618 %18 5.083 %6/ 1.660 %27
S EAENBRE CHE
HEBRICEDAEE GEABREER) OEFIKS 20245 1 OO
X5 JUMNIEX R . 4 NE - =
saap RIGE (EEERE() @@iﬂ’,lz JrEsihX hERihX EEERithX jbﬁﬁiﬂ’,lz A &t
LNt =FE 26 57 5 2 3 5 0 1 101
% B 5 = 114 56 4 4 1 1 0 0 180
% ¥ = 80 1% 13 7 3 1 0 1 300
& = = 93 86 2] 10 9 T 1 0 23]
& £ = 4 o] 5 6 8 1 T 0 19
= £ = 3 3 18 8 6 7 3 0 %
BHT— 55 = 40 55 10 3 D 3 1 0 115
T = = 100 187 17 10 9 5 1 0 329
B B 3 = % 51 53 15 > 3 5 D 0 131
X B = = 10 ) 26 20 7 20 6 1 127
: 541 763 135 72 88 62 15 3 71.659
X =R 2024.5.1 (A)
X & = HEE=AZEE xBB)USAEE
R - 218 A F ® B BFATERE minéf4p) (SH5EI08)
s g 1B + Bl HH 10 3 %15 3 X7 - —
PIHARZHAN g + % 3 3 w2 2 ——
?ﬂ’%?ﬁﬁ%ﬂ%?ﬂﬂ‘&ﬁ?g ?g f}a‘% 3 2471 - —  —
3; = S < T E_Ij A 3 % — —
BRAFHEMN e T 5 m 3 3 %1 3 -
\ e T @] M — - — i 0 %5
T 2 8 % B E £ 8 H — - — - — 3 X6
8 (5788 - = = —
e BHSRATAN o+ - e e 0 %4
‘ s + B I 315 36 %9 319 %17 — =
aLERZMmTER |18 + % 5 55 16 %8 13 %9 - =
21 (5 &84 b 0 0 —  —
% + 0 51 %2 3 %2 0 %7
EERFRETAN o T 5 & % 33 1 30 0 %1
g T # gﬁ 10 3 3 0
e A e Bt A1 B 37 — B 7T
,@T‘HE% 7D /\)\//\)\Jlﬁﬁ%ﬂ iﬁ; + ?ﬁ /H}E 10 — — 0 %1 6 %3
TIRIUNVAFER | & + #% Hf b - — - — 2 X2
£t 667 579 %68 497 %51 39 %59

KENEANEZLETHA
(BEAFTREDXINEANBZEAHDEEEL CTHE)

w



